Seat No.

Subject Code: C300006

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination
Date: 11 -01 -2017

Subject Name: Engineering Chemistry Gp |l

Time: 02:30 PM TO 04:00 PM

Instructions:

1.

2.
3.
4

No.

Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not

allowed)
English version is authentic.

Question Text and Option. U#l Aal ([AscAl.
How much is the efficiency of fuel cell?

A.  70-75% B. 50-55%

C. 30-35% D. 90-95%

ol sine{l el decll 82

A.  70-75% B. 50-55%

C. 30-35% D. 90-95%
Which unit is used to express the emf of a battery?

A.  Watt B. Amp

C. Volt D. Faraday

A3l oll emf sl Ylle i elami 2ua 8?

A.  Watt B. Amp

C. \Volt D. Faraday

What is the pH of a neutral solution?

A 14 B. 7

C. 0 D. 1

deel alaQlell pH 3edl sla ©?

A 14 B. 7

C. 0 D. 1

1F = - coulomb

A. 96500 B. 96400

C. 96200 D. 96000

g Ep— scol,

A. 96500 B. 96400

C. 96200 D. 96000

The value of pH of 0.001M HCI solution will be e e R .

A 1 B. 2

C. 3 D. 4

0.00IM HCI oll pH of Y __ L.

A 1 B. 2

C. 3 D. 4

Crevice corrosion mainly occurs at -------- :

A. Water contact B.  Acid contacts

C.  Junction of two metals D.  None of the above

dASHl Ud &llREl HuAQ ------- Il wA B.

Enrolment No.:

Total Marks: 70
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10.

10.

11.

.

12.

.

13.

3.

A yellell dud i B B. ARs oIl diuf wa U

C. A aidetl Bsta ol 22 D. Guz U4l 2s ual 1@

In the following which is an example for ionic solid?

A. CHs B. NaCl

C. Na D. P4

o(lA A uAells tot el s20 B?

A. CHs B. NaCl

C. Na D. P4

From the following which is the example of basic buffer solution?

A. NaOH & Na;B4O7 B. NHiOH & NH4CI

C. BothA&B D.  None of the above

(LAt AAls 6192 alarl 53 B?

A. NaOH & Na;B4O7 B. NHiOH & NH4CI

C. A&Boda D. il As ugl 8l
Corrosion is an example of which type of reaction?

A. Reduction B.  Addition

C. Condensation D. Oxidation

AREL A 58 YBaul WA Ut B?

A Jlssalel B, owella

C. dotat D. Q@391

Cell potential of dry cell is volt.

A. 15 B. 25

C. 0 D. 1

Yst S\ ol Weollad ------ A 8.

A 15 B. 25

C. O D. 1

In which type of reaction the reactants and catalyst are in the same phase?
A. Homogeneous B.  Heterogeneous

C.  Adsorption Theory D. Intermediate Theory
56 ylsal Ui Galus wal Ylsas AMlol AcRUL UL WAL SlA §?
A yuioL GEluat B [Qrimol GElust

C. wellalue Ruvuid D yratadl Rltuid
P.V.Cis which type of polymer?

A.  branched polymer B.  cross linked polymer
C. linear polymer D. condensation

P.V.C A sAl USR of WelluR 82

Aol WelldR B iR cifld WelluR
C. dufla Wl D delotet QellHR
Which instrument is used for the measurement of viscosity?

A. Thermometer B.  pH meter

C. Redwood viscometer D. Potentiometer
Relotcll MUl HI2 53 AlUotl cAURU B?

Al ler B pn lle?

C. 25 gs @esllle? D qReallad Hle?
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14.

Y.

15.

Q.

16.

6.

17.

9.

18.

.

19.

c.

20.

R0.

21.

What is effect of moisture on calorific value in fuel ?

A. Increase B.  decrease
C. Stable D. No effect
Aol SRAL HAARlell SAILSls AcyHL 9 38R Bl HA B?
A guRl B.  qeldl
C. uan D. 2w ddll «ell
Which element is added in the vulcanisation of rubber?
A. N B. P
C. S D. B
00l0ll ACKASRAA Hi s2AL UELL GRRAUHL U1A B?
A. N B. P
C. S D. B
How much is the work efficiency of solar cell?
A, 20%-25% B. 40%-50%
C. 10%-15% D. 15%-20%
AR Actell st aticl dedl sl d?
A, 20%-25% B. 40%-50%
C. 10%-15% D. 15%-20%
Which is an example of thermosetting plastic from the following?
A. PVC B.  Bakelite
C. Orlon D. Polystyrene
ol Aottt Aty Ul wedls 53 8?2
A PVC B- Q¥cuse
C. et D. Q@readlst
Which apparatus is used for determining the flash point and fire point of lubricants?
A. Bomb calorimeter B.  pensky marten
C. redwood viscometer D. pHmeter
W65 auslollg wal uLellg sal sl HuaHi wWa 8?2
A ool 3Adale? B QotaflulBet Auen
C. 25 gs @Qrslle? D ph Hlle?
Which solution is used in standard hydrogen electrode ?
A. 1MZnCl, B. 1MHSO4
C. 1MHCI D. 1M CuSOq4
YHIRlA slesgloset Yot Hi 53 alalll auRlad 87?
A. 1M ZnCl; B. 1MHSO,
C. 1MHCI D. 1MCuSO,
Which is the monomer of Orlon ?
A.  Styrene B.  Vinylcholoride
C. Vinylcynide D. Butadiene
WAt ol AsL8l wes wLual.
A eladlel B [Qousct sclss
C. ([Qeuscd wasuss D. oyeisieSet
Ni — Cd battery is type of cell ?
A. Dry B. Fuel
C. Primary D. Secondary
Ni—Cd SI™ -------- ysi? of slo 8.
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1.

22.

.

23.

R3.

24,

RY¥.

25.

QY.

26.

RS.

27.

RU.

28.

RC.

29.

A ysl B wada Sy

C. yals D. Asesdl

Water exists in soil due to which type of bond?

A. lonic B. H-bond

C. Metallic D. Covalent

s2Al oitd ofl 5120 ¥ HloAHl Wl wOce 2@ B?

A @l B H- ol

C ulus D deddlws oitl
Property of an oil to stick on the surface of machine is called ------- .

A.  Viscosity B. Acid value

C. Oilness D. Emulsion

22t ofl AW uR A2l Bclletl Actoll oL o ------ 58 8.

A wlloudl B. QRS s

C. Rsedt D

In tinning which metal is used as protective coating on iron ?

A. Sn B. Ag

C. 2Zn D. Au

Rollot ylsau Hi e1BUeHs US 31¥ 58 tld UMl WA 8?
A. Sn B. Ag

C. Zn D. Au

The type of corrosion taking place in stagnant steel water tank is ----------- corrosion.
A. Pitting B.  Waterline

C. Crevice D.  None of the above
¥la dler s Ui ad aurel YsiRe] 88 .

A Y2lat B, dlez cget

C. Basu D Gu Udl Asugl «1@
Which of the following metal is used as sacrificial anode?

A. Fe B. Au

C. Ag D. Zn

o(1A Usl 3¢ uld oll wlHe(l Aalls 313 GuldL e 82

A. Fe B. Au

C. Ag D. Zn

What is the percentage of alcohol used in the power alcohol?

A. 25-30% B. 20-25%

C. 10-15% D. 30-35%

ULR AUEHEIA HL AUEHEA 32l 251 U2l AU el sl 1A B?
A, 25-30% B. 20-25%

C. 10-15% D. 30-35%

Saponification number is the number of milligrams of ------------- required to sponify
fatty material present in 1 gm of the oil.

A. HNO3 B. HCI

C. NaOH D. KOH

UM AdHil Ay wettaal e %33 ... oll Acllondal el ol AlogsL
Uls 56 B.

A. HNOs B. HCI

C. NaOH D. KOH

The commercial name of epoxy resin is ---------- .
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R¢C.

30.

30.

31.

34.

32.

3R.

33.

33.

34.

3%.

35.

34.

36.

A. Thermocol B. Rubber

C. Fevicol D. Araldite
AUl R0oto] 2AURS dUlH ----- 0.

A glsle B. 20012

C. ¥dsla D. Azesise
Which is an example for primary cell?

A. Lead storage cell B. Drycell

C. Ni-Cdecell D. Fuel cell
o(lAatl US| 53 YeaMst s\ue] GeleWU B?

A Qs dollesl By B ysl sin

C.  Ni-cd sln D oladul Sin
The cell which is prepared from semiconductor is -------- :

A.  Fuel cell B. Solar cell

C. Drycell D. Ni-Cd cell
wUt- aesHidl olotdl sl ----- 3% Aaua 8.

A wodrl SN B Qe A

C. Y& an D. Ni-cd 8y
Which of the following metal have FCC arrangement?

A Au B. Fe

C. Na D. W

FCC ystReall olscllgll oA wAcuHiel sal uidHl sl 1A 82
A Au B. Fe

C. Na D. W

Which type of bond formation takes place in p-chloro phenol?
A.  Intermolecular H-bond B.  lonic bond

C. Intramolecular H-bond D. None of the above
p-SARL (FollcAHl s20 vitl glal HA B?

A uidR el B walls

C. gl Do el As ugl o8l
Which coal contain maximum percentage of carbon?

A.  Bituminious coal B. Lignite coal

C. Anthracite D. Peatcoal

Wl ctlR slolol SlAMML ¥ &l B?

A QgHlella slad B.  [Qosttsse

C. AJuse D e

The trade name of phenol formaldehyde is --------- :

A. Orlon B.  Epoxy resin

C. Polystyrene D. Bakelite

ol SIHIRsL8S of cAWBRS Ut ------ 8.

A QRAL B Q@ 2Rt
C. Qdleadlet D.  Qscuse
Which of the following substance is mixed with LPG to get the odour to it?
A. Mercaptans B.  Propane

C. n-butane D. Butylene
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36.

37.

39.

38.

3¢.

39.

3¢.

40.

¥0.

41.

¥q.

42.

¥R.

43.

¥3.

LPG cll3] of JOcR Ud Rl M2 sl cll3f ol doll AA Mt sl wd 872

A R¥ed B. Qe
€ n- oeet D odl@at
From the following which is not a function of lubricant?
A. Actas coolant B.  Increases corrosion
C. Reduce the impact D. Reduce wear and tear
oA suaAc st Usl 53 s @les sl olell.
A ollds 33 adg B. &zl awz
C aaid 0l sl D qe g2 2l s:cll
In which of the following instrument fluid film lubrication is applicable?
A. Heavy loads B.  Cutting tools
C. Gears D. Sewing machine
o{lA wUAE Gus0l USl sl GUSWL Hi AR US w\det Ul B?
A 3l 1ellot B. sl act
C. ol D et Hallot
Which is the first stage of the coalification of wood?
A.  Bituminous coal B. Peat
C. Anthracite D. Lignite
clsst Hiell sl oletictalloll YUH dossl s 87
A (QgR@Qau B e
C. AJudse D Q@osutse
Electrical conductivity of metals are due to ----------------- :
A. Protons B.  Free electrons
C. Kernels D.  Neutrons
UMl [Qtyd clesdl _ o sRA sl B,
A Qe B 35 Setslat
C. 3 D 42let
Decomposition of H2O: is slowed down by adding HsPOa4 . This is an example of
Catalyst.
A. Positive B.  Negative
C. Auto D. None of the above
HsPO, GR3L Al H,0, of [Quest lN acoll ylsal sau Galus of Gelg0 B?
A yat B
C. 2wl D. Qs uwl o8l
What is the unit of specific conductivity?
A. Ohm*cm? B. cm ohm™
C. Ohm cm D. Ohm cm'?
[Qallre cllesdl ol AsH wRUA?
A. Ohmlcm? B. cmohm?
C. Ohmcm D. Ohmcm?
The rate of change of viscosity of a liquid with changing temperature is known as ----- .
A. Acid value B.  Viscosity index
C.  Saponification number D.  Viscosity

yYaltgloll e{lotdl Hl dltuMiotoll 3812 A Geotaldl 38R 9 séclu?
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44,

Y.

45.

¥U.

46.

¥S.

471.

¥9.

48.

¥C.

49,

¥C.

50.

vo.

A Als uis B.  {loudl

C. ayseL s D. eflotict s
Which polymer is used in tyre and footwear industry ?

A. Natural rubber B. Buna-S

C.  Vulcanise rubber D. Buna-N

2lAR U g2AR SUe(l Ml 5 vlguUs cAURIA B?

A gerdl Re0R B gl — A
C. adeusns 002 D gt — Aot

Which type of bond will form by the combination of electro positive and electro
negative elements?

A. Covalent B. lonic
C. Metallic D. Co-ordinate covalent
totlol ol BRL Wlet oll Aot Ul s2Al YSIR ol ol ¢ B?
A yedAws B.  wa[@s
C wlus D yaol usdalrs
Corrosion of metal is more in ------- :
A. Basic medium B.  Acidic medium
C. Neutral medium D. Medium does not affect
tlde] &llrel Hi el ay aa .
A ABs Wt B wRBs aaniul
C. dera Hiatul D ieanell 818 war adl otell
Which is used as an anode in lead storage cell ?
A. Ni B. Pt
C. Pb D. Ag
As Aoles SIMUL Aolls dF 9 AU B?
A. Ni B. Pt
C. Pb D. Ag
What is full name of P.T.F.E. ?
A. Teflon B.  Polytetra fluroethylene
C. Orlon D.  none of the above
P.T.F.E.of Y3ollH 9 8?
A 3sAlel B QellReisA@ sellcllot
C. QA D auiel As ugl «1él
Which material is used for the galvanizing of iron or steel sheet?
A. Sn B. Zn
C. Cr D. Ag
AeAalegFAoL uglaui Aluls GUR sl UELE of US cdlcallHl A B?
A. Sn B. Zn
C. Cr D. Ag
Diamond is an example of -------------------- type of solids.
A. Molecular B. lonic
C. Metallic D. Network
@A A usRell et B.
A gl B wid@s
C. aieclla D. eqollel2
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51.

uq.

52.

uR.

53.

us3.

54.

uy.

55.

uy,

56.

us.

S7.

.

58.

Binding firmly a homogeneous layer of a coating metal to the base metal on one or
both the sides is known as ------ .

A. Galvanizing B.  Metal cladding

C.  Sheradising D. Metal spraying

HA tldell ol ol Asy Ulde] A Hwod us Uataclloll ydaua
sdclHl WA B,

A deaattgflol B. et sAloL
C. ollasigaflol D. Ree Q8oL
What is the unit of viscosity?
A.  kogllitre B. ml
C. Poise D. gm/litre
Ralotclloll AsH s2A0 B?
A.  kogllitre B. ml
C. Poise D. gm/litre
Grease is an example of which type of lubricants?
A. Liquid B.  Semi solid
C. Solid D.  Synthetic
Al sAUL YSIR oll w188 of BELSW B?
A yadl es B. e uot 65
C. dot 65 D. 2R <65
Which is the structure of isoprene?
A. CHx=CH: B. CH2=C(CH3)-CH=CH:
C. CH2=CCI-CH=CH; D. CFx=CRk
USAYlote] 2clls Yot wgual.
A. CHx=CH: B. CH>=C(CHs)-CH=CH:
C. CH2=CCI-CH=CH; D. CF>=CF;
What is the value of ionic equilibrium constant of water at 25 C temperature?
A. Kw=10’ B. Kw=10-7
C. Kw=10" D. Kw=10%
25°C AlUHLal ULl Attefls0L AA0s QU
A.  Kw=10’ B. Kw=107
C. Kw=10% D. Kw=10"
Alcohol and petrol blend is known as ---------
A. Butyl alcohol B.  Methyl alcohol
C.  Propyl alcohol D. Power alcohol
UESBA A VAol AL ol 9 sdcllad B?
A e AU A B, Rusd wesldla
C. Quuscaucsdla D yar wehldla

The total quantity of heat liberated , when a unit mass of fuel is burnt completely, is
known as.....

A.  Octane number B.  Nuetralisation Number

C. Calorific value D. Cetane number

L oUH ot 3 Yallgl ot AYQl esot Ul Geuat Ul oRHla g 5& B?
A lseat uls B. deellsaL s

C. eulla yeu D alRet s

Which material is used as an ideal packing material for delicate electronic goods ?
A. Rubber B.  Thermocol
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uc.

59.

ue.

60.

SO.

61.

SAq.

62.

SR.

63.

S3.

64.

SY¥.

65.

C. PVC D. Bakelite
Adeatalle oy Alustlott el AEL 12 s UELS cduRA B?

A 001 B, aullslet

C. PVC D Qausse

Which of the following monomer is used in Nylon-66 ?

A. Ethyne B. Ethane

C. Styrene D. Adipic acid

(RAstl Hiell 52) U2 ottt 66 oll Glollcle ML dUR2A B?
A g8t B. g3

C. wdlet D. AdlAs Axls
Which is the example of co-polymer?

A. Polypropylene B. Buna-s

C. Polystyrene D. PVC

ol Aot Higll Ue-cigues of GELERQL QUL

A Qelgdllellst B ofoll-aly

C. adkedlet D Uil

Which type of wool is obtain from fine filaments of alkali free glass?
A.  rock wool B.  Slag wool

C.  mineral wool D. Glass wool

ulesAl Ysc stamiedl s gt Anccuul wud 8?

A s g B Q0L gt

C. wRy qa D scu qet

What is the percentage of methane in natural gas?

A 92% B. 90%

C. 9% D. 88%

AUEA AUl L Aotof Yl F2¢f sl B2

A, 92% B. 90%

C. 94% D. 88%

The reaction occurring in electrochemical cell ------ :

A. Reduction B.  Oxidation

C. Redox D. Neutralisation

los A2 SIMH s aa ®.

A Rssalat B 539l

C. 2 D.  defaswl

The corrosion protection method useful in case of buried structure is------- .
A. Sacrificial anodic protection B.  Non metallic coating
C. Electroplating D. Electrolytic method
oHlolul e2Act uUd oll 81QL UL ... Ut oll GUADL scll ML A .
A aeeldll Aells utkdll B atig us utudl
C. [Qxda utudl D [Qeydsla ueadl
Bomb calorimeter is used for determining the calorific value of which type of fuel?
A.  Mixture of gas and liquid B.  Mixture of solid and liquid
C. Gas D. Liquid

ot 3ARl Hle? ol Hee el Jal ysiR ol tndRle Gl e 0l asia?
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66.

SS.

67.

SV.

68.

SC.

69.

Sc.

70.

90.

Ay ua yadl of B B dot ual yaudl of s

Rubber is formed by ----------------- type of reaction.

A.  Esterification B. Condensation

C. Addition D. Neutralization

1R ofl callcleMi ... ysel ulsau aa .

A ARGl B 3totat

C. Qowla D. de@sz0

The force of attraction exerted on the bonding electrons by the atom is known as.....
A. lonisation Energy B.  Electron Affinity

C. Electron Negativity D. Inductive Effect

UsUAs oit Ul Gollell Ui écl 8AsAot al vusNalloll Al ol 9 seauau?
A tellsRel i B satsglot oiydll

C. (Ayd e D. gossdlal waR

Which of the following is used to reduce friction between two moving surfaces?

A. Lubricant B. Catalyst

C. Insulator D. adhesive

HElt ol ol Hi ad udgl Aestal 12 9 cdluRallHl wd 87

A Raes B Gdlus

C. (Qdaudl ueld D. ol verdd

From the following which is not an example for solar cell?

A.  Silicon cell B.  Cadmium sulphide-copper sulphide cell
C.  Gallium arsenide cell D. Ni-Cdcell

oA uact sl Usl s SIn AAR Acts] GELsAU B?

A RS Sy B ¥s@a uestes-suuR deslss Sl
C A@an wAs s D Ni-cd Sln

The standard conditions of temperature and pressure for electrochemical cell are----.
A. 0Oatm, 0°C B. 25atm, 1°C

C. 10atm, 50°C D. 1atm, 25°C

log A2 51 HZ2 YHUGLA AlUHLel A EGRl B,

A. 0Oatm, 0°C B. 25atm, 1°C

C. 10atm, 50°C D. 1atm, 25°C
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